number <+ 10 etc (6) number + 10 etc (6) n + 10 (6) number + 10 etc (6) number + 10 etc (6)
Write down the value of Write down the value of Answers Write down the value of Write down the value of
(a) 531.67 = 10 (a) 531.67 <+ 10 (a) 53.167 | (a) 531.67 < 10 (a) 531.67 + 10

80.5 80.5 (b) 8.05 80.5 80.5
b) — b) — b) — b) —
(b) 10 (b) 10 (b) 10 (b) 10
(c) 28.917 =10 (c) 28.917 =10 (c) 28917 | (¢) 28.917=10 (c) 28.917 =10
5286.7 5286.7 (d) 528.67 5286.7 5286.7
d
(d) 10 (d) 10 (d) 10 (d) 10
(e) 50.73+ 10 (e) 50.73+ 10 ()  5.073 | (¢) 50.73+ 10 (e) 50.73 =10
(f) 648.6 =10 (f) 648.6 + 10 (f)  64.86 (f) 648.6 +10 (f) 648.6 + 10
28.15 28.15 ( 28.15 28.15
g) 2815
(&) —5 (&) —5 (&) —5 (8 —5
(h) 20.4+10 (h) 20.4=10 (h)  2.04 | (h) 204+ 10 (h) 20.4=10
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